[bookmark: _GoBack]Math 1 Unit 1 Review Sheet						Name:_________________________________
Show all work and answer all parts of all questions.

	Given information:
	Type of sequence?
	Common difference or ratio = 
	Increasing or decreasing?
	Recursive equation:
	Explicit equation:
	The seventh term:
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	5)
	0
	1
	2
	3
	4

	16
	10
	4
	-2
	-8



	
	
	
	
	
	

	6)
	1
	2
	3
	4
	5

	80
	20
	5
	
	



	
	
	
	
	
	



	Given information:
	Type of equation?
	Initial term?
	Type of sequence?
	Common difference or ratio = 
	Other type of equation
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Math 1 Unit 1 Review Sheet, continued					Name:_________________________________
Show all work and answer all parts of all questions.

	
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	
	27
	24
	21
	18
	15
	12
	9
	6
	3
	0
	-3



Use the table above to answer #13-16
13)  If , what is the value of ?  ________   		then find _______ and _______

14)  If , what is the value of ?  ________   		then find _______ and _______

15)  If , what is the value of ?  ________   		then find _______ and _______

16)  If , what is the value of ?  ________   		then find _______ and _______

Find the missing terms of each arithmetic sequence

	17)
		
	1
	2
	3
	4
	5
	6
	7

	
	4
	
	
	
	
	
	46



	18)
		
	3
	4
	5
	6
	7

	
	50
	
	
	
	22




	
	
	
	

	19)
		
	0
	1
	2
	3
	4
	5
	6
	7

	
	96
	
	
	
	
	
	
	75



	20)
		
	4
	5
	6
	7
	8

	
	17
	
	
	
	77







Find the missing terms of each geometric sequence

	17)
		
	1
	2
	3
	4
	5

	
	2
	
	
	
	512



	18)
		
	2
	3
	4
	5

	
	13
	
	
	351




	
	
	
	

	19)
		
	0
	1
	2
	3
	4
	5
	6

	
	384
	
	
	
	
	
	6



	20)
		
	7
	8
	9
	10
	11

	
	5625
	
	
	
	9






For each situation, identify the two variables, make a table of values, a (fully labeled) graph, and write both recursive and explicit equations.  Show all work on a separate sheet of paper. 
21)  Jai’Lin is saving money to buy a boat.  He has $400 and plans to save $50 more every week until he has enough.

22)  Liza is starting a new work out plan.  She plans to do 5 sit-ups the first day, then add 2 more sit-ups every day.

23)  Maria started a new job.  She was promised a salary of $35,000 for the first year and a 5% increase every year.

24)  Julian is determined to eat healthier.  He realizes that he currently consumes about 50 mg of sugar in a typical day.  He plans to reduce that amount by 5 mg every day.  

25)  Haylie worked all summer and saved $450.  She plans to spend $10 per week on after school snacks.  

26)  Aidan is interested in the stock market.  He has been watching one particular company’s value.  It was originally valued at $250 per share.  It has lost $12% of its value every week.  


The first four figures of a picture pattern are shown.  On a separate sheet of paper, a. Describe how each pattern is growing visually.  b. Identify each sequence as arithmetic, geometric, or neither.  c. If the sequence is arithmetic, identify the common difference; if the sequence is geometric, identify the common ratio.  d. Write an explicit formula (if possible)   
27)					29)			        30)
[image: Image result for picture patterns math]         [image: Image result for picture patterns math]       [image: Related image]

figure number			figure number			figure number
number of diamonds		number of hexagons		number of branches

Choose the best answer.  
31)  A rabbit population starts with 10 rabbits and doubles each year for three years. How many rabbits will there be at the end of the three years?
A.  30		B.  80		C.  150		D. 630	
32) A single bacterium lands in your mouth and starts growing by a factor of 4 every hour. After how many hours will the number of bacteria exceed 1,000?
A.  One hour	B.  Three hours	       C.  Five hours	D.  Twenty hours

[image: https://lh3.googleusercontent.com/QFfG2qPA6kDeTuYUvyqjS8tdUOyN9CLnYSIT0U3Bqr89fhxcGdj85f_nMRoVPEmXiyoFYtRvMSDa8E-fXDQnUrkBj2Q7XK-nrS28V09uQe2BtMVZKoYgCzeMggmXT74hz_fD1C3U]33) What is the recursive function that fits with the sequence shown in the graph below?

a. [image: https://lh5.googleusercontent.com/dy-Gg5ig48SC_SA7NFU-YtryypU-xXNeAnMp-_WghACnxrfZXtsdvEIxxOJENmmcJ29bHfGdO7NkG--g4fBna1nBKyMTgd8ta0sBJL2Zj5tVex0gmUtbua8xQwnBy6HFSWIGzLy2]
a. [image: https://lh4.googleusercontent.com/TkyYRqyE-wI6DQmFHIehiHLFk6abELFE_gyAZJKRqmjmh7GXoQN1eMP20KCOP1ZbmEAieQKdS62DYAY3ERhPtxH16FW5fXi0vhVCo0RmJmEWwGesNFK7wFEHBrT-0ppqg_wP34zw]
a. [image: https://lh4.googleusercontent.com/cD6ducmAytW9fg02_TlKtLywqf9mZOmopBwopELhht1R_wo_XB1hw2xEzkiyc1P_6kYlr8jCsPer8XkyTTVrZL6be_aQ2JcQiOA_UM-pKN0qY7mnpAA92hhYmziBnUQShX9kCZpi]
a. [image: https://lh4.googleusercontent.com/JfnDQz3VOpa203tR89bi76w8WsqrladeXL-WD8NFbK11a0RemEfKsNG3nNY7T5cFCWMh-I9htpUgm8evvA0FuAzC8sgsSzSXRrB7O9rBWFS0ot-iZCN9-kuZrytgrDzQ8rB3KwCJ]


[image: https://lh6.googleusercontent.com/JSyzqTCYbe7gtCiiYX4fmK-_aGf7O2MHK74fVH1FDd7ZspFw-qa7Xw_SrujAd_6JSmXAv7AKVyF8M3sKTLFvhqrdblLObi9wzAyczGThoB8bPgncSoQBYPBtT65jAcfiTCFRPtgO]34) What is the explicit function that fits with the sequence shown in the graph below?

a. [image: https://lh4.googleusercontent.com/I9Pxovy0U0k9tL51mL7OiPpd4UVa0zCGUDfL-m2xVLi9mrXXpbmCFrtbPNDsVd0tUpsukqn7pnosA2KHEOwwm0x9iAZeoBO195EId2Bd2OUIyhZvFoffvpcUXv2ioQoadg_bJTS0]
a. [image: https://lh5.googleusercontent.com/VFLVjXqXLAKRMWZ_EysBIswZmw53Uz4QdXqYm6qsQMPjino6eviJ7NqvgeM9M3Wu6nQRLOubmoM50OBzR9aPFq4fbN_hTzALpPQkOE8SjrVjlW4TqMb7fzmkXHnLIWYbV5JL70ss]
a. [image: https://lh4.googleusercontent.com/aL9posBAAqDBgDMWjx6XQ_1MLOY-NKUL726xnTyVS5gcF2sDJm-1Y-e79jK0ESgC7nKVOl3qjMr5w1hkBwKGwybtqHGXFe_reSrT2v-ujWixt93D2LHrQ7UkWfYdQp2ZZmQlmApR]
a. [image: https://lh3.googleusercontent.com/4zkNTAZRwffIfrnJb-lzpt34RehH-pbMBgtZ-qre8OjjOhngdG09FNJ9vKBr1LnSqpbyBZjZnoXrdpk_kWVVachqbZ-np_mBL4X7-Xb5Y5eLewovaJnUbqMwsJA-AYCLGWli7O2B]
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